GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is

AT 3rdeyaear i fg &

1) Industry

3T
2) Agriculture
Y

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

1) RBI
ARSI
2) NABARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

4) M.S Swaminathan
TH.TH EHIA

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &
1) Environmental protection
TR T &

2) Economic profitability

snfderermerdedr
3) Social and economic equality
arAToR AR 3w FARTAr
4) Religious equality
enfie @Fdar

5)Green Revolution was started at
Wﬁﬁ?ﬁw

1) 1963-64

2) 1966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?
gRa wifa &1 aaifs o fora wae & @

1) Wheat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Agricultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N T TIhrE LT
3) increase production
3cuieed # gefTr &l
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 age
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) Availability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 3603T ThamEl Al IR & 3caiigd 3o AT & ot & fow aRda & gl

1) | only
hael |

2) Il only
&ad I

3) Both
G|

4) None of these
I
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7

1) 1 January 1995
1 SeAaT, 1995

2) 10 October 1995
10 37eFga¥ 1995



3) December 12, 1995
12 feHeX, 1995

4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
Y 7 IaioT T Afas o= §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT & FA I E
2) sale of goods.
eI & fowa @ B
3) Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁ@r@mﬂﬁt@mﬁﬁr@rwg‘géﬁ?

1) In 1913
1913 &
2) In 1947
1947 #
3) In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)

2)

3)

4)

Ragi
Trafr

Groundnut
Harhelr
Jowar
AR
Sugarcane

ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

1)

2)

3)

fair price shops

3T Hed & g
Co-Cooperative stores
HE-HghNI HESR

super bazar

JUIETSTR

S

None of the above

SN

19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1)

2)

Special Employment Program.

Y TSR i |

Population control.

I FEIAIFoT|

Development of Small and Rural Industries.
oY Td AT SeFarehl A |

All of the above.

I HeiT|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W TAHEIT T ARG

4) all of them
3o T

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployment
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
AR & $Y &F # fhy g & aUSaT a8 Sl 87

1) Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wfeos aUSI

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

TG HETAT
4) All of them

5) sARTsR!
24)Full form of HYV

HYV T qoT &9

1) high yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1)

2)

1 July,1979
1 qgﬂé,1979
1 July,1979
1 3elts, 1978
1 June ,1979
1 51,1979

None of these

"



